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: The SFP method corresponds to the picture quality where no more than one error is visible 
in the picture for an average observation time of 20 s. 

2: 
SFP

 
3: The ESR5 criterion is fulfilled if, in a time interval of 20 seconds, there is at most one second 

with packet uncorrectable errors. 
4: LDPC
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1 http://www2.nict.go.jp/tao/kenkyu/CRYPTREC/fy15/cryptrec20030425_spec01.html 

2 http://www.kddilabs.jp/kcipher2/kcipher2.htm 

3 FIPS PUB 197 http://csrc.nist.gov/CryptoToolkit/tkencryption.html 
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5 http://www.kddilabs.jp/kcipher2/kcipher2.htm 
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